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The question paper consists of 5 sections and 37 questions.

Section A consists of questions 1-18 carrying 1 mark each and are Multiple

Choice Questions. All questions are compulsory.

Section B consists of questions 19-24 carrying 2 marks each and Very Short

Answer type questions and should not exceed 60-90 words. Attempt any 5.

Section C consists of questions 25-30 carrying 3 marks each and are Short

Answer type questions and should not exceed 100-150 words. Attempt any 5.

Section D consists of questions 31-33 carrying 4 marks each and are case studies.

There is internal choice available.

Section E consists of questions 34-37 carrying 5 marks each and are Long

Answer type and should not exceed 200-300 words. Attempt any 3.

Section A
(All Questions are Compulsory)

As per the division process of age in Special Olympics, which of the following is

the appropriate age division for team games ? 1
(A) 13 and under (B) 8-—11 years
(C) 30 and above (D) 16-21 years

A girl is participating in sports for 2 years. Identify the psychological benefits for
her from the following : 1

(A)  Helps in increasing bone density
(B)  Helps in improving muscle tone
(C)  Helps to improve self-esteem

(D)  Helps in improving communication

3 P.T.O.
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(C)  1-2,11-4, 1MI-1, IV-3 (D)  1-4,11-2, 11I-3, IV-1

75/S 4



3. is characterized by high sociability, if a person is outgoing and has
a tendency to seek stimulation in the company of others. 1
(A) Conscientiousness
(B) Agreeableness
(C) Extraversion
(D) Neuroticism
4. Which of the following is a short term effect of exercise on the muscular system ? 1
(A) Hypertrophy of muscles
(B) Increase in glycogen storage
(C) Increase in muscle temperature
(D) Increase in lactic acid tolerance
5. Which of the following is a macro mineral ? 1
(A) Iodine (B) Copper
(C) TIron (D) Sodium
6. Given below are the options for number of participating teams in a tournament.
Which option will have highest number of ‘Byes’ while drawing a fixture ? 1
(A) 17 (B) 18
©) 19 (D) 20
7. Match the following : 1
Column 1 Column II
I.  Sliding friction 1 Cycling
II.  Fluid friction 2 Ice skating
III. Rolling friction 3. Try to push heavy object
IV. Static friction 4 Swimming
(A) I-2,1I-1,1I-3,IV-4 (B) I-2,1I-1, II-4, V-3
(©) 12,114, 1I-1,IV-3 (D) I4,1I-2, 1I-3, IV-1
75/S 5 P.T.O.
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8. Identify the asana shown in the picture given below : 1

/R
(A) Tadasana (B) Katichakrasana
(C) Pawanmuktasana (D) Garudasana

For Visually Impaired Candidates only

In which of the following asanas does twist of the waist give a nice stretch to the
waist and helps in making it more flexible and supple ? 1
(A) Tadasana

(B) Garudasana

(C) Pawnanmuktasana

(D) Katichakrasana

0. SAI Khelo India Fitness Test is introduced in schools for two groups, namely
class 1 — 3 and class 4 — 12. Which of the following test item is common for both
groups ? 1
(A) Plate Tapping Test
(B) Body Mass Index Test
(C) Sit and Reach Test
(D) 50 mts Dash

75/S 7 P.T.O.
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In which of the following methods to develop flexibility, an individual performs

the movement with swing and rhythm ?
(A)  Slow stretching method

(B)  Slow stretch and hold method
(C)  PNF method

(D)  Ballistic method

There are different types of physical impairment in Paralympics.
(A) Seven (B) Six
(C) Eight (D) Nine

The height of bench used in Harvard Step Test for men is
(A) 16 inches (B) 20 inches

(C) 22 inches (D) 15 inches

Preparing budget of the tournament and maintaining a record of income and

expenditure of the tournament are the responsibilities of which committee ?
(A) Technical

(B) Finance

(C) Transport

(D) Medical

Which of the following asana is performed in a sitting position ?

(A) Bhujangasana (B) Matsyendrasana

(C) Garudasana (D) Mandukasana
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15.  Given below are two statements labelled Assertion (A) and Reason (R) : 1

Assertion (A) : Self-esteem is centred around a belief in the self and respect for
the self.

Reason (R) :  Mental imagery is a psychological skill, that can be created in the

mind in the absence of any external stimuli.

In the context of the above two statements which one of the following is correct ?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

16.  Given below are two statements labelled Assertion (A) and Reason (R) : 1

Assertion (A) : Menarche is usually considered the point of sexual maturity for

girls.

Reason (R) :  Menstrual dysfunction is an abnormal condition in a woman’s

menstrual cycle.

In the context of the above two statements which one of the following is correct ?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

75/S 11 P.T.O.
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Fat soluble vitamins include the following vitamins except

(A) Vitamin-B (B) Vitamin-D

(C) Vitamin-A (D) Vitamin-E

Johnson-Metheny Test Battery does not consist of motor stunt.

(A) Front Roll (B) Side Roll

(C) Back Roll (D)  Jumping Full Turns
SECTION -B

(Attempt any 5 questions)
Briefly explain ‘Health Run’.

Briefly explain ‘R.I.C.E.” Therapy to manage soft tissue injuries.
Explain the procedure of Dhanurasana as a preventive measure for Asthma.

What do you understand by Macro-cycle ?

Enlist four non-nutritive food items.

Suggest any two strategies to make physical activities accessible for CWSN.

SECTION - C
(Attempt any 5 questions)

Briefly explain the concept of Talent Identification in sports.
Explain the purpose and procedure of ‘Flamingo Balance Test’.

Elucidate any three factors, affecting projectile trajectory.

13
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Enlist any two tests to measure functional fitness of senior citizens and describe

the procedure of any one of them.

Describe three food myths and their related facts.

1+2=3

1+1+1=3

Describe any two methods to develop strength, by giving suitable examples from

sports. 1 1 +1 1 =3
2 2
SECTION -D
(Internal choices available)
Study the table given below : 4x]=4
I II I v VI VII
Round Round Round Round Round Round Round
7 \Pye 6 Bye | 5 Bye | 4 Bye | 3 Bye | 2 Bye | 1 Bye
6 1|5 7 |4 6 |3 5 12 4 |1 3 |7 2
5 2 |4 1 |3 7 |2 6 |1 5 |7 4 16 3
v 3v3 2 |2 1 7 |7 6 |6 5 15 4

Based on the above study and your knowledge, answer the following questions :

(a)
(b)
(c)

tournament ?

(d)

League Tournament is also known as

(For Visually Impaired Candidates only)

Identify the method used in the above fixture.

How any matches are played is the above fixture ?

How many rounds will be played if 6 teams are participating in a league

What do you understand by intramural and extramural sports ? Write any two

objectives for each.

15
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32. Study the picture given below : 4x]=4

Deaflympics

Based on the above study and your knowledge, answer the following questions :

(@) The above logo incorporates four colours, red, blue, yellow and

(b)  The logo of Deaflympics was designed in the year

(c) In the above logo, the hand shapes, “Ok”, “Good” and ” overlap
each other.
(d)  The first Deaflympics were held in the year in Paris.
OR

First Deaflympics Games were also known as

(For Visually Impaired Candidates only)

Explain any four advantages of physical activities for children with special
needs. 1+1+1+1=4

75/S 17 P.T.O.
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33. Study the picture given below : 4x]=4

(A) (B)

Based on the above study and your knowledge, answer the following questions :

(a) Identify the injury shown in picture ‘A’.
(b)  The injury shown in picture ‘A’ occurs due to overstretching of

(c) Identify the type of fracture shown in picture ‘B’.
OR

Fracture is a tissue injury.

(d) is a joint injury that forces the ends of bones out of position.

(For Visually Impaired Candidates only)

Explain any two soft tissue injuries. 2x2=4

SECTION - E
(Attempt any 3 questions)

34.  Explain any two postural deformities and suggest their corrective measures. 2 é +2 é =5

35.  Define Equilibrium. Explain Static and Dynamic Equilibrium by giving suitable
examples from sports. 1+2+2=5

36. What do you understand by Obesity ? Explain the procedure of any two asanas to
manage obesity. 1+2+2=5

37. Define Motivation. Differentiate between Intrinsic and Extrinsic Motivation. [/+2+2=3

75/S 19



